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Year 6 Core Arithmetic Test 1 teStbase
424 - 51 =

12x5x4=

729 x4 =
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Year 6 Core Arithmetic Test 1 testbase

Mark scheme

19. For 2 marks: 39 366 [2]

SE—— 496 11 - -
For 1 mark:
2. 355 [1]
729

3. 82 ] ng?g

36 450
4. 4 1] 39 366
5 0 (] An error in one row, then added

) correctly, or an error in the addition

6. 7172 [11 20. 35 ]
7. 2 (1] 21. For 2 marks: 13 [2]
8. 373 [1] For 1 mark: Evidence of either a

long division method or short
division method with only one error

9. 25 (] (carry figures must be seen in a
short division method)

10. 240 [1]
22. 0.0238 [1]
11. 2916 [1]
23. 4452 [1]
12. 5 [1]
1
13. 6606 [1] 23 i
14. 26 [1] 25. 12 [1]
15. 0.9 (1] 2
26. — [1]
?
16. 3 [1]
17. 86 [] 27. 35 3
1 7
18. 13.5or135 [1] 28. 15 [1]
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6 -' WQECTEON GNE — Numser & Léés Value
Ordering Numbers

What does the 8 represent?

What does the 4 represent?

R

i

Write this amount as a number.

e Put these numbers i-n:'i?jfdery. from largest to smallest.

623 458 632 527 623 581
largest smallest

343 402 342 337 319




&

7841 7836
230 799 231 030
1926 709 1926 790

Who has the most stamps?

140391 146220 109931 146202 140400

S,

largest

smallest

— Numger & Puiace VaLue
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Claire scores 12 points on her next turn. What is Claire’s score now?
Use this number line to help you.

Which floor is Arthur on now?

—Bentini One =Bl



What is the temperature difference between Dirk’s garage and his bedroom?
Use this number line to help you.

'r::::{:z::{::t:l::::,....,,,.l|
-15 -10 -5 0 5 10 15

She buys some food and her bank balance is now —£8.
How much was Nila’s food?

=8gerion ONE — NuMBER & PLAcé VALUE
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Section One— { -
Number & Place Value |
Pages 6-7 — .
Oade ,6 /A b Q4  The answer is 2 less than 3.
rdering Numbers Count back 2 places from -3.
Q1 80000 =5 (1 mark)
400 000 Q5  To getfrom -15to -5
(1 mark for both correct) you count on 10 places,
Q2  Thirty one thousand, five i.g _1t5 f+ 10 =-5.
hundred and sixty three. get from 4 to -2 you
(1 mark) count back 6 places,
s04-6=-2.
Q3 728942 (1 mark) (1 mark for both correct)
Q4 632 527, 623 581, 623 458 Q6  You count back 8 places
(1 mark) to get from -2 to -10,
. ; s0-2-8=-10.
Q5 319 should be circled. ‘ You count on 5 places
(1 mark) { to get from 11 to -6,
! so-6=-11+5.
6 7841 > 7836
Q 230 799 < 231 030 E (1 mark for both correct)
1926709 < 1926 790 ’ Q7  To get from -11 to O you
(1 r_nark for all three correct) count 11 places.
Q7  Write how many stamps To get ;‘r:ml 0to 14 you
each girl has as a number: count 14 places.
Jess has 14 429, and So the difference between
Padma has 14 011. e s
14 429 > 14 011, s0 Jess 1T+ 14 =25 °C (1 mark)
has the most stamps. Q8  To get from 3 to 0 you
(1 mark) count 3 places.
Q8 146220, 146 202, 140 400, To get f“”l“ 0to -8 you
140 391,109 931 gougt %!;faces-
(2 marks for order correct. £c3)t € 4 ! ergr‘lce between
Otherwise 1 mark for at least 3 ag_-£8 IS
three consecutive numbers +8 = £11 (1 mark)

given in the correct order.)

Pages 8-9 —
Negative Numbers

Q1 Count on 10 places from —5:
5 .
Count back 7 places from 3:
-4
(1 mark for both correct)

Q2  Count on 12 places from -9:
3 points (7 mark)

Q3  Theansweris 17 less than 4.

Count back 17 places from 4.

It's 4 places from 4 to 0, then
another 17 - 4 = 13 places.
-13°C (1 mark) -
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English Writing - Week 1

Day 1: Answer the questions

Question time

= Where do you think they are going
tonight?

* Who do you think they are?

e How do you think they manage to take
things without being seen?

= Do you think stealing things is wrong?
Why is it wrong?

= |f someone doesn’t have enough food, is
it ok for them to steal more?

= How would you deal with someone
taking something from you?

Day 2

Grammar/punctuation
challenge

You can you use adverbs before nouns
and after nouns.

For example:

Dangerously, the tiny vehicle sped
through the traffic lights.

The tiny vehicle dangerously sped
through the traoffic lights.

Write a short paragraph of writing
using adverbs in each of these places
in your sentences.




Day 3—Improve it!

Sentence challenge

These sentences are ‘sick” and need help
10 get better. Plegse help.

The vehicle went across the road. There
wds a car waiting to cross.

Day 4 and 5 Continue story

Every night, when the city sleeps, they
come out of hiding. Their home is far
below the city, and during the day when
the city is alive with activity like g hive of
busy bees they spend their time
planning and plotting their next job.

You see, during the night, when they
think nobody will see them (they are
exceptionally smotl) they sneak around
above ground. They toke things:
voluable things.

Have you ever had something go
missing and wondered where it has
gone? You moay hove just found the
reason why!

Tonight is no different: they are on their
way to maoke a small fortune..,

Continue the story.




